
Figure 1, Mechanical Internal Puller Assembly, IPM3 

P O W E R FU L  S O LU T I O N S .   G LO BA L  F O R CE .

Document Number Revision Revision Date Product Date Code 
Beginning With 

L4398 Rev. A 03/2020 A

Repair Parts List, Figure 1 
Item Description Qty. Repair Part Kit

1 Slide hammer 1 IPM3K2
2 Slide hammer shaft 1 IPM3K2
3 Upper body 1 IPM3K1
4 Stap 3 IPM3K3
5 External jaw 3 IPM3K4
6 Regulatory spindle 1 IPM3K6
7 Washer, M6 1 IPM3K1
8 Internal jaw 3 IPM3K5
9 Lower body 1 IPM3K1
10 Strap, non-threaded 3 IPM3K3
11 Nut, M3 6 IPM3K3
12 Bolt M3x12 6 IPM3K3
13 Bolt M4x8 1 IPM3K1
14 Bolt M6x15 3 IPM3K1

www.enerpac.com 

 

Mechanical Internal Puller
IPM3P O W E R FU L  S O LU T I O N S .   G LO BA L  F O R CE .

Repair Parts Sheet


